

$$\mathbb{T} \ni {}_n\mathbb{T} \rightsquigarrow {}_\infty\mathbb{T} \Leftrightarrow \bigwedge_{\varepsilon} \bigvee_{m} \bigwedge_{n}^{\substack{> 0 \\ N \geq m}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \varepsilon$$

$${}_n\mathbb{T} \rightsquigarrow {}_\infty\mathbb{T} \xrightarrow[\text{rule}]{\text{prod}} {}_n\mathbb{T} \times {}_n\mathbb{T} \rightsquigarrow {}_\infty\mathbb{T} \times {}_\infty\mathbb{T}$$

$$\bigvee_M \bigwedge_n^{\substack{> 0 \\ N}} \overline{{}_n\mathbb{T}} \leq M$$

$$\bigwedge_{\varepsilon} \bigvee_m \bigwedge_n^{\substack{> 0 \\ N \geq m}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \frac{\varepsilon}{M + \overline{{}_\infty\mathbb{T}}}$$

$$\begin{aligned} \overline{{}_n\mathbb{T} \times {}_n\mathbb{T} - {}_\infty\mathbb{T} \times {}_\infty\mathbb{T}} &= \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T} \times {}_n\mathbb{T} + {}_\infty\mathbb{T} \times {}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T} \times {}_n\mathbb{T}} + \overline{{}_\infty\mathbb{T} \times {}_n\mathbb{T} - {}_\infty\mathbb{T}} \\ &\leq \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \overline{{}_n\mathbb{T}} + \overline{{}_\infty\mathbb{T}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \frac{\varepsilon}{M + \overline{{}_\infty\mathbb{T}}} M + \overline{{}_\infty\mathbb{T}} \frac{\varepsilon}{M + \overline{{}_\infty\mathbb{T}}} = \varepsilon \end{aligned}$$

$${}_n\mathbb{T} \rightsquigarrow {}_\infty\mathbb{T} \in \mathbb{T}^{\mathbb{C}} \xrightarrow[\text{rule}]{\text{quot}} \bigwedge_n^{\text{fast}} {}_n\mathbb{T} \in \mathbb{T}^{\mathbb{C}} \wedge {}_n\mathbb{T}^{-1} \rightsquigarrow {}_\infty\mathbb{T}^{-1}$$

$$\bigvee_{m_0} \bigwedge_n^{\substack{N \geq m_0}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \frac{1}{2 \overline{{}_\infty\mathbb{T}^{-1}}}$$

$$\overline{{}_n\mathbb{T}} = \overline{{}_\infty\mathbb{T} - \underbrace{{}_n\mathbb{T} - {}_\infty\mathbb{T}}} \geq \overline{{}_\infty\mathbb{T}} - \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \geq \overline{{}_\infty\mathbb{T}} - \frac{\overline{{}_\infty\mathbb{T}^{-1}}^{-1}}{2} = \frac{\overline{{}_\infty\mathbb{T}}}{2} \Rightarrow \frac{1}{\overline{{}_n\mathbb{T}}} \leq \frac{2}{\overline{{}_\infty\mathbb{T}}}$$

$$\bigwedge_{\varepsilon} \bigvee_m \bigwedge_n^{\substack{> 0 \\ m_0 \geq m}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \leq \frac{\varepsilon}{2 \overline{{}_\infty\mathbb{T}^{-1}}^2}$$

$$\overline{{}_n\mathbb{T}^{-1} - {}_\infty\mathbb{T}^{-1}} = \overline{{}_n\mathbb{T}^{-1} \times \underbrace{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \times {}_\infty\mathbb{T}^{-1}} = \overline{{}_n\mathbb{T}^{-1}} \overline{{}_n\mathbb{T} - {}_\infty\mathbb{T}} \overline{{}_\infty\mathbb{T}^{-1}} \leq 2 \overline{{}_\infty\mathbb{T}^{-1}} \frac{\varepsilon}{2 \overline{{}_\infty\mathbb{T}^{-1}}^2} \overline{{}_\infty\mathbb{T}^{-1}} = \varepsilon$$